EARAZROREIERT — 2 N— XBISY —F 202053858 (k) 14M@1IE4H

mkﬂﬁ&?##%” B3= #3%—## EREE R
[xE4£] 1 % :2,400,000 @ 2 3% :960,000 @ ~ 3 7 :600,000 @ ~ 4 7 :360,000 @ ~ 5 7 :240,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. N (S . 11— _ ] — %
1 6| K>TARILT o7 5”25]}_%51”5 1.(3_5).0 11-11-4-1 | 39.1 4 (4_737) %ﬁm;w (i)
L2 T hA—T7—K=FK B:XHT7N EH %7
gy = pay: ) :35. —7-3- . = NIARE (GFFD)
» 5| h—tsi—F g — 5 = 1(345)9 7-7-3-4 | 40.3 2 ;1_9:) /%””%é
L:bh—t>EFF—7 B:ib—t>IvtrX BRSH IXF477—L4
_ EEE A . _o_n_ — AEEE (1%
3l5lg| P kw5 i 5 == 1.(326>.3 1-2-2-2 | 41.3 1 (4_814) PR
R:N—=Y7514 B:h=avh (B) A3 -FRL—->a>@aEI7r
N s = KHEZ : -8-9- — SAE— (&)
algliz| 97 5=5« S i i IR R P o | BAes
x> AR N BARX N 2A L LA Eae]
- M. 3v1aL . 9-11- _ srate (/11
5 3|7=-77I5> 5 MSTE 1.(316).7 9-9-11-11 | 40.3 10 (422) %Eﬁg (11ies)
LFNT—TI BIAC TV TR Ii=te
ST A A T £ 5 | FERA 1:37.0 5-5-4-5 | 41.8| — 3 488 | SHATER (/1)
6l111|FWATE1 ~ 7 56.0 (1 1/2) (3 |ZENEH
L:TUHA AT R BT 4L BF JE—
. 3 46 | WOER 1:37.1 10-10-7-7 | 41.0| — 12 | 469 |HMEA (#45)
717112 RIVEILT D F— 56.0 (7€) (g | K HEEK-2557
R:2g—YLIO-X B:IA—FT2AL BB R
5= N EHE . -1~ - 2m— (18
8 4|75V I3-F47 # o4 | BH 1.(317).3 1-1-1-2 | 42.5 6 (4133) %%B;E (1)
L:xoov¥/x€% B XAhMT1— SRS
AN o o s EREZ :37. -12-12- . - wEHK (IE)
9 o | RA > RINA 15— 9| ER 1(737t)3 12-12-12-10/ 40.3 14 3237) e
R:aAv> X B:Svyiahyi— H—L—-Jv/X> - T7—LARS
3 4 5 | BEARE 1:37.7 6-6-10-6 | 42.1 | — 5 475 | REREEE (1)
10[7 (11| A2 —%7 54.0 @ s | B 75 Fas
LY IRT4 IR B:FFYRY 55 Riig
_ R ER e . 14-14— — BO—RFR (#fn)
1 9| FLITT it 6 i) 1(73{:)7 14-14-14-14] 40.0 13 :?3) o
LHT—N—F B:FLTRO— A F08R
< se e - _13-13- — = (I8
57| v FrLEY #H 5 slﬂa*gﬁa 1.(328).1 13-13-13-13| 41.0 11 520 A?;Eﬂémw
LN—HNK B XX/ IT3— © TI3XITT— LI
> t+ 4 | HTHER 1:38.2 1-4-7-12 | 42. — 7 475 | FEIE— (/1)
13 10| £ 7V —F— B4 s (o ’ Lo |emis
Rily RRN—4 B:Za—X&2—H—I =K BER
- 45 | AR 1:38.7 1-3-4-9 [43.5| — 9 510 | /AvVERR (AN
148(14| T 75T 172 6.0 (2 172) o) | R
L= R7Ua—b B:FA MIATN=2 RIS
® 1 —F—@EBIERL
1T=7r= (4,8,10,14),1,11,5,13,3,12,6,2,7,9
2a=5F= 4,8,14,10,1,11,5,13,3,12,6,2,7,9
Ja=9= 4,8,5,(1,6,14),(10,12),13,11,3,2,7,9
40—F— 6, (4,8),5,1,11,12,13,14,2,3,10,7,9
[ /N
B 6 580H 714K 5-6 520 B 4-4 2,350 JEE 5-6-8 2,040/
B B 6 140M 6-8 330M e B 4-4 2,070M 3B 6-5-8 14,590M
5 1504 5-8 410M B & 5-6 1,850
8 1209 B H 6-5 3,270

ARICOVWTRDTEEERROODE. TR LI,



